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Question 1

Question Type: MultipleChoice

Customer 'A" has sites on 3 different Alcatel-Lucent PE routers. The routers are connected to each other through an IP/MPLS network in
a full mesh fashion. Customer 'A' requires a VPLS service. Which of the following statements are TRUE? (Choose2)

Options:

A) Each router requires 1 VPLS service.

B) Each router requires 2 VPLS services.

C) Each router requires 1 SDP with 2 LSPs, one to each of the other 2 routers.
D) Each router requires 2 SDPs.

E) Each router requires 3 SDPs

Answer:

A D

Question 2




Question Type: MultipleChoice

What is the purpose of service mirroring on the Alcatel-Lucent Service Router?

Options:

A) To mirror service requirements of a customer with a single branch office and multiple remote sites
B) To utilize unused ports of a service router until they are required for a service.

C) To replicate traffic from a service port to another port for debugging or monitoring functions

D) To ease the configuration burden of services that support a large number of subscribers

E) All of the above

Answer:

Question 3

Question Type: MultipleChoice

Which of the following about the components of a service on the Alcatel-Lucent 7750 SR is FALSE?



Options:

A) An SDP can be used by more than one service and customer.
B) A SAP can only be created on an access port.
C) A customer can have multiple services associated to it.

D) A customer is only created on one site of a distributed service.

Answer:

D

Question 4

Question Type: MultipleChoice

By default, what does an Alcatel-Lucent 7750 SR do to support VPLS services for different customers?

Options:




A) Dedicates a separate port for each customer.
B) Performs ARP look-ups for each service.
C) Maintains a different IP routing table for each service.

D) Maintains a different MAC Forwarding Database for each service.

Answer:

D

Question 5

Question Type: MultipleChoice

Which one of the following items CANNOT be used as a mirror source on an Alcatel-Lucent 7750 SR?

Options:

A) IP filter
B) MAC filter

C) Egress label



D) Ingress label

Answer:

Question 6

Question Type: MultipleChoice

Which of the following about the Alcatel-Lucent 7750 SR's sdp-ping utility is FALSE?

Options:

A) It tests uni-directional or round-trip in-band connectivity.
B) It tests the reachability of hosts that are using an SDP.
C) It tests the reachability of the far-end IP address of an SDP through its tunnel.

D) It can be used by specifying only an SDP ID.

Answer:




Question 7

Question Type: MultipleChoice

Click the exhibit.

age Nnot d or type unknown

PE1 and PE2 are Alcatel-Lucent 7750 SRs. What needs to be added to PE1's configuration to mirror traffic between PE2 and the
customer site?

Options:

A) A 'remote-source' needs to be added to the mirror destination on PEL
B) A mirror source needs to be added to PE1 with a 'remote-source'.
C) This is not possible since the protocol analyzer is located at the Central Office. It needs to be at the customer site.

D) A mirror source with SAP 1/1/2 needs to be added on PEL



Answer:

Question 8

Question Type: MultipleChoice

On an Alcatel-Lucent 7750 SR, the OAM command 'svc-ping' can be used with options bcal-sdp' and 'remote-sdp'. Which of the
following is TRUE?

Options:

A) iocal-sdp' and ‘remote-sdp' indicate that all services using these SDPs are pinged.
B) 'local-sdp' and remote-sdp' indicate that pings are initiated from both local and remote routers.
C) Both 'local-sdp' and 'remote-sdp’ take parameters to specify which SDPs are used for the test.

D) 'local-sdp’ indicates that the ping is sent in-band, and remote-sdp' indicates the return ping is in-band.

Answer:

D



Question 9

Question Type: MultipleChoice

On an Alcatel-Lucent 7750 SR, which of the following about IES interfaces is FALSE?

Options:

A) An IES can only have one interface.
B) An IES interface can have an SDP or a SAP
C) An IES can perform fragmentation.

D) An IES must have an IP address assigned to it.

Answer:

A

Question 10

Question Type: MultipleChoice




On an Alcatel-Lucent 7750 SR, why must the MTU be explicitly set when configuring an IES spoke termination to a VPLS?

Options:

A) By default, a VPLS signals an MTU based on the network port.
B) By default, an IES sets its ip-mtu to the VC MTU of the VPLS
C) By default, an IES uses an MTU value based on its SAP

D) By default, an IES uses an MTU based on the network port.

Answer:
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